                                                     Right Form of Verbs Practice
1. [bookmark: _GoBack]There are many people who (a) —— (not take) physical exercise. They can hardly (b)—— (realize) that they themselves (c) —— (ruin) their health. They (d) —— (fall) victim to many diseases. Life (e) —— (become) dull to them. They (f) —— (remain) always ill termed. We (g) —— (build) good health and sound mind through physical exercise. Physical exercise (h) —— (make) our body active and the muscles strong. It also (i) —— (improve) our power of digestion and blood circulation. It (j) —— (give) strength to our brain.   

2. It has been over three hundred years since Emperor Shah Jahan of Delhi (a) —— (build) the Taj Mahal as a tomb for his wife in Agra. Architecturally, it (b) —— (be) one of the most beautiful buildings in the world. The building (c) —— (make) of fine white marble with inlays of coloured marble. It (d) —— (have) eight sides and many open arches. It (e) —— (rest) on a platform or terrace of red sandstone. Four slender white towers (f) —— (rise) from the corners of the terrace. A large dome (g) —— (stand) above the centre of the building. Around this large dome there (h) —— (be) four smaller domes. Just inside the outer walls, there is an open corridor from which the visitors (i) —— (look) through carved marble screens into a central room. The bodies of Shah Jahan and his wife Mumtaz (j) —— (lie) in two graves below this room.

3. To err is human. If a man commits crime anytime and repents truly for his misdeed, he may (a) —— (forgive). But the man who (b) —— (not, give up) the wrong (c) —— (suffer) surely. In the long run, he (d) —— (will take) to the land of death. The old sailor (e) —— (be) —— a wrong-door in his long journey. He committed a crime (f) —— (kill) a sea bird (g) —— (call) Albatross. That crime ultimately head (h) —— (bring) bad luck to them. The ship (i) —— (leave) in the icy sea. The sun shone over their head. The wind (j) —— (drop) down. It was a great disaster.
